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1. E\J{Qluq-\-e.

Al Blol Ol d) =478
= qQ =0 = 7] = M8
e)lec2sl £ \-5 L%
= (.25 2

= 5_12:

2! Order +he numbers from least to Srecﬂ-ésh
log!, 1.4,1-2] 0.4, |-1L) ,-0.8
T ’IL\/”%\’ ’ll'\;a)
Q.8 2 3 ‘_l_
5 ' A

Tﬁ:e numbers{rom leastto Sfecﬂ'CSJr are s
-0.8,-0M, ‘%{ ,0081 1.4, |-14], and I-2].

3. Order the numbers From 8rea+es+

+o leas+t.
2.4, 1131, ]—g_\ , =19 l~%e\, ’ | ‘1[6‘ XN
1.3 i\ 06
o 6

a

The numbers ‘rom 8veo.+es+ +o0 leastares
=7 _ _ - -
2.2, | 2| 7\lsl,“_!!(_)\ , 1-0.61,-1.9 and-2M.
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4. Evaluate each expression.

13151 B)I3l-1-8

= -7 = K=
= ] = —S
D I1TI-E) d) L 2- 5(3)l
=17+3| =| 2-151
= |10l = |-\3|
= 10 = 13

6. Determine the value of each
absolute value expression.

2 1-6-CG1)] B 1-a.51-11231
= 2|-6+11 = Q85 -12.3
= 215] = 2383
= 2(5)
= 10
d) 3;1_1 +51—,:_3,,,_! d) 1 3D *+5¢2) +71
| 2| 4| = 13 -10+7
= A 1Y+ 573% = | 12-10+7
\ 2/ L/ = | 2 +7
= 3 +15 = {9]
PV = q
= + 15
ary
= Dl
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e) -4+ 13+l e=-CEDI-18-171+ |-2]
= 19l + le+al-1-9l + 2

= 9+ \sl-9+2

= 9 4+ 15 -9 + 2,

= O -9+ 2,

= IS+ 2

= 17

8. Southern Alberta often experiences dry
chinooK winds in winter ond \Sprm
That can Chm\r@e Temperatures by-a
| o amount iy a short -Hme.Ona pqrﬁcular

m Warner, Alberta, +he temperature

_was 1°C in f—he Mornin A chinook wmd
raised the Yemperatyre’ +o +7°C by |
Cﬁ:\-crﬁogm The temperature dropped’to
-9°C durin +he r\\gfﬁ Use absolute
value sym rite an expressxon
[For the ‘LO‘\‘G Cho e in temperature
That day. \What | he +otal chcm e

in femperature £ or the da\z 2

let T=-11 To="1, “r’——ca

IT-T L+ Ts- ’i‘;l
= | 7-DV+ 1-9-"1]
= L7+ 4+ =16
= |8l+tle
= 18+\6
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2. Tn physics , the amplitude of a wave
IS Mmedsured as +he absolute value
of +he difference between the cres+
height and the 4rough height of
+he” wave, divided by 2.

Amplitude = | crest hgighw;: 'h*ough h_e_igbi:l

crest De:\"Qrm‘.ﬁE + < Of‘ﬁph‘l‘ud@.
of waves with +he followinc

—one Cyde C QFQC."('CT' '.-S_Jr‘l»CS' |
r \7( Wampﬁ:ude TL

trough

Q) Crestat Neight 17 and +rou8h at "ﬂeujghjr.?_/.
Peoplitude = | crest height-trough height |
o 2_’ I % A
= 117-21

——

|
NQPEP
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b) Amplitude = \crest hei8h+-+rou8h he[ghﬂ
| - | 90-(ao)l ~
I
= 190+90!

2
= LIg0]
2
= 180
2
= 90
) Amph‘—&—ude‘z | crest \'\eigh“r“ %‘\’O\J@h he{\c_:}ht\
| = |125-(-0.5)|
“
125 +0.5 |
= 175 |
= 15
= 0.]756
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